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(& 4+ (constructor)
(OPF = 38 (friend function)
(222 %8 %] (generic class)
@3 % > ;%= (abstract method )
f) A R 630 38 (pure virtual function )
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double f1(double x, double y) {
inta=2, b=1, c=1;
x+=(atb+c==2*b);
X-=a*b/x;
return (x+c);
¥
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int f2(int x, inty) {
if (x >5) return (y+1);
else if (x > 3) return 3 + f2(x+1, y+1);
else return 1 + f2(x+1, y);

}
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printf("%d\n", transformX10(9, 1621));H ¢ ¢ =& = transformX10(9, 1621) CER A
(base) e i * f'—éi%] 5 1234 - 5 B transformX10 4284 ™ > FHE B 7 e
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int transformX10(int base, int x) {
int ans=0, index=1;
while (x>__ (1) )
ans= _ (2) +index*(x%10);
index=__(3) *base;
X = x/10;
¥

return ans;
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double f1(double a,double b,double c){
if( (1) ) return -1;
else return sgrt((b*b)-(4*a*c));
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void f2(doub|e a,double b, double c, double *ans1, double *ans2){

if( (1) -1){
(2) = -999;
(*ans2) =-999;
¥
else{

(*ansl) = (-b+f1(a, b, c))/(2*a);
(*ans2) = (-b-fl(a, b, c))/(2*a);
by
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double f3(){
inti, n;
double a, b, ¢, ans1, ans2, max = -999;
scanf("% d",&n);
for(i=0;i<n;i++){
scanf("%lIf %lf %lf " ,&a, &b ,&cC);
f2(a,b,c, &ansl, &ans2);
if( (1) { max=ansl; }
if( (2) { max=ans2; }

}

return max;
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Opasswd 1# 1:%] e e B o)A 8 Piedt passwd<8 ﬁl@ Fm \, o (5 4)
S% 7+ = B 5 E 44 (radio button) - (10 & )

<html><head>
<title>Exam</title>
<script language=javascript>

function checkString(s1,s2) { -

If( - ) { 2| DAtestO1.html ,O .
alert("EMPTY™); name:
return false; passwd:

}

if(_ O ) {
alert(*'passwd <8");
return false;

}

return true;

b

</script></head>

<BODY TEXT=#FFFFFF BGCOLOR=#000000>

<form action = Login method=POST name=FORM1>
name:<input type = text name = name><br>
passwd:<input type = password name = passwd><br>
<INPUT (=) name=rdoCourse value=1 checked> Java
<INPUT (= name=rdoCourse value=2> C# <br>
<input type = submit onClick="return checkString(FORM1.name.value,

FORML1.passwd.value);" style=width:60 value =Ok>
</form></body></htmI>
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